0000000 -000 (0100

1. 1) 000 00000000 20000, |z=|z/00000.

(2) 200000 2,2 0000,
EE [zl
z9 |22|

00000.000,00 |a1z| =|allz2l, |22=22000000.

2.200000 80 |0|<1,|8/<1000000,0000000000

=
1-ap

<1

3. (1) 000 20 |2/<1000000,2+2<200000.
(2) 200000 2,2 0000,000000000000000000000.

|21 — 22| < |z1] + |22]

4. 200000 z1,22 0000, 21 +2 0000000,00000000000.00,2—20000.
ooooboo,0200000000000000000D0A0.

5. 0000000000,00000000 z=r(cosf+isind) DO O0O.

(1) z2=V3+i (2) 2=—-1+V3i (3) z=i

6. z1 = cosfy +isinby, za =cosfy +isinf 0000 21/20 00000,0cosf@+isind 0000000
ooooooooooog.

[Dooo)
(0000 10)01,02,00 14,0000 11,0000 12,0000 13,0000 1.6

gooooooood
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